Ch Dividing with a Numberline Name:

Use the numberline to solve each problem. Thefirst ismarked for you. Answers
1) 0 1 2
5 | : : : : : I : : : : : I : | 1.
2+/6
2
2) 0 1 2 3 4
e e N
3+/3
4,
3) 0 1 2 3 4 5 6 5.
) —_——
6+7-
3 6.
7.
4) 0 1 2 3 4 5 6
5 T L L T B B B B e e B e L B B L
67 8
0.
5) 0 1 2 3 4 5 6
5+ /g
6) 0 1 2 3 4
>, Bt
3+7/,
7) 0 1 2 3 4 5 6 7 8
5 e T L S ML B oy o o
7=/
8) 0 1 2 3 4 5 6
) | S | | |
675
9) 0 1 2 3 4 5 6 7 8
3,  FH+———t+——t——t—"t—t—t——t
77/,

1-9 |89]|78]67[56]44[33[22[11] 0 |

[ M ath ] www.CommonCoreSheets.com




Answer Key

Name:

Dividing with a Numberline
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